usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

- 4000 = Entries 45858
55 140001 evilree : :
E M ¢ i — 57490 B 8 EDDD:_ Mean 1.517
= F i ntrie | B
5 | 12000 tes 36749 30001 1800
4 - - N Std Dev 511.3
- I Mean 4.581 ! 1600
i i 2B §§§ % g wx % 1400 —
3l i Std Dev  0.02212 I TTTTTETTTITT 0 7T TTT - Overflow 1
- 8000 1000[- 1200~
' 1 1000
- 6000 '
T i g H H HHH 800
- 4000 ! 600
i . ~1000} -
1= A ' B vTvitvtvtet Toty 400
: 2000 B HHHHH%}}E}}E}{ * "}{:x: E
I : - 2000~ X 200~
[F‘Fe_—l-llllll ||||||||||IIII|II ||||||||||'.:"":‘II.I:‘I3 D_lllllllII|I||II|IIII|II I||II| _|||||IIII|IIII||||||||II|III :Illll |||||||||II|I ||||||
0 50 00 150 200 250 300 350 400 450 448 45 452 454 456 458 4.6 4.62 4.64 4.66 4.68 0 10000 20000 30000 40000 50000 —d‘DDDD -2000 -1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run4372 000 maindet usl.png



dsl*CurMon:Entry$ dsl*CurMon {ErrorFlag==0) asym_dsl/ppm:patiern_number {ErrorFlag==0) asym_dsl

qu C 14000 thTree 4000F ] 2000 Entries 45858
Sl o - ; :
i i - - 1800+ Mean 1.738
% af- 12000 — Entries 367490 3000 o B
° ok I - 1600 StdDev 5485
3.5 - Mean 4.383 - -
- 10000~ 2000 w % x 1400 Underflow 0
B Y H O s —
3 - [ T TTXT % X 3 ®xx T X -
B — St’d DE“H" DD2254 T T T TT T -I EDD | Dverﬂnw ‘|
- 8000 — 1000 B
2.5 - N
: . 1000~
2 6000 — _
| | i
15F I j -
- 4000 — _1000! 600
- 2000 EBUD_—}{E N RSV AN A ST T -
0.5 - —0lure g * 200
n;‘z‘l‘llllll ||||||||||||||||| ||||||||||'.:"":‘II.I:‘I3 _III|IIII|II|||||| |||I|I |I|||I _|||||||||||||||||||||||||||| :Illll ||||||||||||||| J_IIII
0 50 J0 150 200 250 300 350 400 450 A‘P.EB 43 432 434 436 4.38 4.4 442 4.44 4 46 4.48 0 10000 20000 30000 40000 50000 —d‘DDDD 2000 -1000 0 1000 2000 3000
Entry$ dsl*CurMon pattern_number ppm

run4372 000 maindet dsl.png



USF*CUFMOHZEI‘Itry$ usr*CurMon {EerrFIag== } asym_usr/ppm:pattern_number {ErrorFlag==0} aSym__usr
c - 14000 N Entries 45858
S 450 - thTree 2200
3 Kieery I 2000 x Mean  0.3064
i 4E ¥ 3 12000~ Entries 367490 20001 |
> F I T T T LTI T T T TTTTT 18001 Std Dev 480
3.5 10000 Mean 4253 1000, -
: i 1600 Underflow 0
3 i -
- B otd Dev  0.02007 1400
2.5 i 1200
2:— 6000 | -I[mn:_
- - ~1000 .
- - LI 800
1.5 B B P Floe s w0 m3booodxdx N
- 4000— - }{:x: * 3 i y b 9 :x };}{ 3 y 600
1= - —2000 -
. B - 400
n 2000 - -
0.5 i i x 200F
- 3 - 3000 _
aﬁ-lllllll ||||||||||||||||| ||||||||||:"‘:‘In Dlllll ||||||||||||I II|||| |||||||||||||||||||||||||||| |||I|||||||||||||||| ||||||
0 50 J0 150 200 250 300 350 400 450 418 42 422 424 426 428 4.3 432 434 0 10000 20000 30000 40000 50000 —d‘nﬂﬂﬂ 2000 -1000 0 1000 2000 3000
Entry$ usr*CurMon pattern_number ppm

run4372 000 maindet usr.png



dSI'*CLII'MOnZEI’ITW$ dsr*CurMon {EerrFIag== } asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr
c — = B = Entries 45858
S 4o ! evilree 2000 . ook
3 B 14000 — - ¥ % x - Mean 0.1745
O m i : . -
T 4: ol i Entries 367490 ‘ISDU? M3 E }ff_ g}éii « }{}{}{“}fﬁ}é%_—éﬁf 2000
N 3 5: ‘IED[][]_— LT X T T ‘IBDD: Std Dev 462.6
s 3 - Mean 4.053 10001 - Underfi ,
S 10000 500 - :
B i otd Dev  0.01917 i 1400 Overflow 0
25 - 0F -
" BDDD_— - 1200
i3 : 500} 1000
- 6000 ; .
1_5:_ B -1000 - BDD:—
: 4000/~ _1s00E 5E T LTSI 500 %% 600F-
1= i L X K :x * W WX ® X -
- I C o ; . 400
[ 2000 2000 -
O : : . 200
5'F'T_-IIII|II ||||||||||IIII|II ||||||||||'.:"":.‘II.I:‘I3 _||I|III I|II|II|II|II I|||||| _EEDD__Illlllllllllll||||||||II|III :IIII|ILI|IIII|IIII|I|||||||
0 50 J0 150 200 250 300 350 400 450 :'P.QE 398 4 402 404 406 408 4.1 412 4.14 0 10000 20000 30000 40000 50000 —d‘DDDD 2000 -1000 0 1000 2000 3000
Entry$ dsr*CurMon pattern_number ppm

run4372 000 maindet dsr.png



0.0665

0.066 4 |

20c5s R

0.065

0.0645

0.064

yield usl:pattern_number {ErrorFlag==0}

| | T 1T 1 | T 1T 1 |*+-

10000 20000 30000 40000 50000

pattern_number

run4372 000 pairTree usl.png

6000

5000

4000

3000

2000

1000

yield_usl {ErrorFlag==0}

htemp

Entries 183604

Mean 0.06507

Std Dev  0.0003385

E:!l_
=L
B

0.0645 0.0655

1
0.066 0.0665
yield usl

-2000

-4000

-6000

-8000
0

asym_usl/ppm:pattern_number {ErrorFlag==0}

T 1 q]jl T 1
[

{ 1] I
K]
(1K)
K]
1]
(W]

|

(1]
Ll
Ll
W]
W1
1]
L7
[
[
(K
[l
i
[l
i
i3
[l i1
i
L

10000 20000 30000 40000 50000

pattern_number

5000

4000

3000

2000

1000

0

-8000-6000-4000-2000 O

asym_usl/ppm {ErrorFlag==0}

PairTree

Entries 183604

Mean 1.603

Std Dev 2019

2000 4000 6000 8000
asym_usl/ppm




yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

i 6000 htemp : - PairTree
0.0635— = 8000— - - + % }: i
- 5 B T T 3
> I Entries 183604 T TITT 7o «T5 - _ X 5000 Entries 183604
T 5000— 6000— T T TP 1% X 7T 1.7 i
0.063) i Mean 0.06225 : 1] _ i Mean 1.842
% - 4000 - 4000
4000 i i -
PP i Std Dev  0.0003357 2000 g LLELL DL i Std Dev 2258
0.0625 ' - I 3000}
3000 U%EESEEE: =l=f=lsl=l=lllalsISISlal=]=]2 EHEE alsl=i=l=]= i
- i 2000 fF;" TTITTHTITT T i
0.062 i i
- 2000 i 20001
- - —4000 - 111 R
0.0615— 1000 —-6000 | _ }{}* ] R . 1000~
: - - gooof- | -
Dnﬁ-l_lllllllllllllI|IIII|IIII|III _|II IIII|IIII|IIII|I Jll _IIII|IIII|IIII|IIII|IIII|III Dl_lllJ III|III|III|III|III|III I|III
' 10000 20000 30000 40000 50000 0061 00615 0062 0.0625 0063 0.0635 0 10000 20000 30000 40000 50000 000-6000-4000-2000 0 2000 4000 6000 8000

pattern_number yield_dsl pattern_number asym_dsl/ppm

run4372 000 pairTree dsl.png



0.0618

0.0616

0.0614

0.0612

0.061}-

0.06
0.0598
0.0596

yield usr:pattern_number {ErrorFlag==0}

-'|"I'II|III|III

I|III|III|||..|_

10000 20000 30000 40000 50000
pattern_number

run4372 000 pairTree usr.png

yield_usr {ErrorFlag==0}

7000

6000

5000

4000

3000

2000

1000

htemp

Entries 183604

Mean 0.0604

Std Dev  0.0002234

Y

05860598 .06 .06@206M06EE0600.060.06 TRO6 Y06 1060618

yield usr

asym_usr/ppm:pattern_number {ErrorFlag==0}

6000

- _ }R'.: },\:

T X TTo T % X T T % . -
4000 - % - RN

1 T - X

| i
2000

0 BEREEEER EEESSEEEHHEEEEEEE EEEEEEEE:HE
—2000 -

: B Lx 1 %
4000 L| L]~ | RN oo N N i bl Boll B Rl B R B0

4 :‘_}{ 4 £ AL

-4 L P

B P P P
—6000 —

I I | | I I | | [ 1 1 1 | I I | | I I | | [ I 1
0 10000 20000 30000 40000 50000

pattern_number

asym_usr/ppm {ErrorFlag==0}

- PairTree
5000 |—

B Entries 183604
4000 __ Mean 0.3[]35

- Std Dev 1505
3000—
2000
1000/~

D I_ | ] | | ] ] ] | | ] | ] | ] | ] ] | ] | ] |
6000 —4000 —2000 O 2000 4000 6000

asym_usr/ppm




yield dsr:pattern_number {ErrorFlag==0}

0.059

0.0585

0.0575H H3EEF

0.057

10000 20000 30000 40000 50000
pattern_number

run4372 000 pairTree dsr.png

6000

5000

4000

3000

2000

1000

yield_dsr {ErrorFlag==0}

htemp

Entries 183604

Mean 0.05756

Std Dev  0.0002639

|IIII|III 1 L |

| l 1
.058 0.0585 0.059
yield dsr

1
0.057 0.0575 0

asym_dsr/ppm:pattern_number {ErrorFlag==0}

6000 —
B y y
[ % % x xxXx X AR OH X
S W Moo KTHHHHTTH | T | T Koo
4000+ TS T TR HEET T T XT
1 o
20001

-
1 i
Ll
i K]
]
AN
I |
AN
: AN :
: AN :
: 1N }
: AN :
: AN :
I | ¥ I
: K] |
[ ] :
: i :
: K |
: K }
K]
K]
i
K
i
T
K]
K
7 1
Ll

2000
4000 =L LLLls LLLLLDy sy L111] L] x
L xx X L5 wmm x Ly ly Ll
s s s - LHEM O HEK
— s s - s
- s
—6000 —

0 10000 20000 30000 40000 50000
pattern_number

6000

5000

4000

3000

2000

1000

0

asym_dsr/ppm {ErrorFlag==0}

PairTree

Entries 183604

Mean 0.1903

Std Dev 1448

-6000 -4000 -2000 0 2000 4000 6000

asym_dsr/ppm



asym_usl

asym_dsl

asym_usr

asym_dsr

E

| [ |
N N N —B0C
- 0 . - m | {350 - =
0.003 0.003 0.003
- - —30( - —50(
0.002— a0 0.002— 0.002—
: : —25¢ : o
0.001 30( 0.001 50¢ 0.001
- i - 30(
o o 15¢ o
B 20( B B
N N N 20(
_0.001F _0.001F 10( _0.001F
- 10( - -
- : 50 N 10
0.002}- -0.002}\- -0.002}\- i
i | I L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 i L1 1 | L1 11 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | ,D i | | | I | I 11 || | || || | | I | | | | L1 1 | | ,D
—0.002 -0.001 0  0.001 0002 0.003 0.004 —0.002 -0.001 0O 0.001 0002 0.003 0.004 ~0.003 -0.002 —0.001 0 0.001  0.002
asym_usl asym_dsl asym_usr
ds ds asSyIll__usr
0.004 — 0.004 — 0.004 —
N - N - [ —60C
- —135( - —50¢ -
0.003 0.003 0.003
- —30( i - —50(
n n —40( n
0.002 0.002 0.002
B —25( B B _aot
0.001F 0.001F 30( 0.001F
- i - 30(
ol o o
- - 20( -
- - - 20(
-0.001F -0.001F ~0.001F
- - 100 - 10¢
-0.002 -0.002F -0.0021
i 1 1 I L1 11 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 i L1 1 | I | | 111 1 | 1 1 11 | I T | | 1 1 1 1 | 1111 | ,D i | 1 1 1 1 I 11 1 1 | 1 1 1 1 | 1 1 1 1 | 11 1 1 | | ,D
—0.002 -0.001 0  0.001 0002 0.003 0.004 —0.002 -0.001 0O 0.001 0002 0.003 0.004 ~0.003 -0.002 —0.001 0 0.001  0.002
asym_usl asym_dsl asym_usr
s aSYIIl_USr
| | | [
B —60( [ —60( B
0.002} 0.002} 0.002} lasc
i - I —50¢ i 0
0.001 0.001 0.001
- - - —35¢
. 40 I 40 I 30
o = =
i L] - Z 25(
- i 30( -
—0.001 —0.001| ~0.001 20(
i i 200 i 15¢
-0.0021- -0.0021 -0.0021 iy
- i 10¢ -
i O i 0 C m 50(
-0.003}- -0.003|- -0.003\-
1 1 I 11 1 1 | I | 11 1 1 | 11 1 1 I I . | 1 1 1 1 11 1 | I | | 11 1 | I T | | I | | 1 1 1 1 | 1111 | _D | 1 1 1 1 I 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | | _D
—0.002 -0.001 0  0.001 0002 0.003 0.004 —0.002 -0.001 0 0.001 0002 0.003 0.004 -0.003 -0.002 —0.001 0 0.001  0.002
asym_usl asym_dsl asym_usr
asymm_usr
0.002 0.002 0.002 24
. —50¢ - —50( - —22(
1.0015F 1.0015F 1.0015F
- - = —{20(
0.001F- aoc 0.001F- o 0.001F- 18
1.0005F 1.0005F 1.0005F —16(
oF 30( oE ob —14(
- - - 12
).0005 1.0005 1.0005
n n n 10(
- 20( - -
~0.001F ~0.001F ~0.001F 80(
).0015 F- 2.0015F- 2.0015F- 50C
- 10 - - 40
0.002F -0.002F -0.002F
: . : - - 20(
]‘GGEE 11 I 11 1 1 | I | 11 1 1 | 11 1 1 I I . | 1 1 1 1 jlﬂﬂEE 111 | I | | 11 1 | I T | | I | | 1 1 1 1 | 1111 | jﬁﬂﬂEE _l 1 1 1 1 I 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | |

0

rund372 000 asym maindet mitual correlationiCOLZ. png = =+

| [
‘= —50(
0.003[—
N —40¢
0.0021—
0.001
o
~0.001F
_0.002]-
_lllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ,D
~0.00250.0040.00150.06-0.0005 0 0.00050.00%0.0019.002
asym_dsr
ds
0.004— —
- W
- —50(
0.003
N —40(
0.0021
0.001F
oF
-0.001F
B |
-0.002F
_|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I {]
~0.00250.0040.00150.06-0.0005 0 0.00050.00%0.0019.002
asym_dsr
i I"‘_ — —{24(
0.002\—
i —22(
- —20(
0.001— 18
| —16(
ol —14(
—0.001—
_0.002
|
-0.003
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
~0.00250.0020.00150.06-0.0005 0 0.00050.00%0.0019.002
asym_dsr
a"‘_ — —45(
0.002F
2.0015F a0
0.001F oo
1.0005F —30¢
0
1.0005
~0.001F
0.0015F
-0.002F 50
- =
jlﬂﬂEE—rlllllllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
~0.00250.0020.00150.06-0.0005 0 0.00050.00%0.0019.002

asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

asym_usl

asym_usr

I
%2 | ndf 28.5 /29 - %2 [ ndi 2226/ 29 - - %2 | ndf 408.2 / 32
0.003
p0  —1.138e-07 + 9.216e—08 p0  _2.849e-07 + 2.505e—07 - p0  5.197e—07 £ 2.272e-06
o1 0.9989 + 0.0002 o1 0.9262 + 0.0005 N 0.000L o1 ~0.3976 £ 0.0049
0.001 3 0.001 < i
i i 0.001
o o I
! ! i }
i i - #ﬁ—h -
- i 0 R Wy
—0.001 y ~0.001 £ - 1 sty H
B ::: B +1,_+: :
0.002 - 0,002 - —0.001
:I 1 1 | 11 11 | L1 1 1 | 11 11 | L1 1 1 | 11 11 | L1 1 1 :I 1 1 | L1 1 1 | 11 11 | L1 11 | | I | | 1 1 11 | L1 11 | | | | | I | I 11 1 1 | 1 1 1 1 | | I | | | | L1 1 | |
0002 0001 0 0.001 0002 0.003 0.004 0.002 0001 0 0001 0.002 0003 0.004 ~0.003 —0.002 —0.001 0 0.001  0.002
wl | aSyIll__usr
I I B I
¥Z / ndf 51.17 /29 } %2/ ndf 3259/29 " | %2 [ ndf 407.2/ 32
p0  3.6e—08 + 2.7e—07 p0  —1.589e-07 + 9.768e—08 0.003 p0  7.881e—07 + 2.421e-06
p1 1.068 + 0.001 o1 0.9987 + 0.0002 i o1 ~0.4457 + 0.0053
e Ea 0.0021-
0.001 3 0.001 3 i
i i 0.001
o | = |
- - X 4
i i : i -
—0.001F 0.001— or 'HJPr |,
o oo ; o
: +"++-r : _"__:- :
0.002 ¢t _0.002 - ~0.001
_I 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 _I 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | | : | | | I | I 11 1 1 | 1 1 1 1 | | I | | | | 11 1 | |
0002 0001 0 0.001 0002 0.003 0.004 0.002 0001 0 0001 0.002 0003 0.004 ~0.003 —0.002 —0.001 0 0.001  0.002
asym_usl _ 1 asyIm_ usr
E I 2 | ndf 302.5/ 29 X - %2 | ndf 339.4 / 29 2 [ ndf 46.02 / 32
C % : - } +++H
O } (|- - -
- 2 | PO 1.4490-06 + 2.120e—06 - | p0 1.108e—06 = 2.109e—06 p0  —2.395¢-09 + 7.713e—08
).0005 — p1 ~0.347 £ 0.004 0.0005~ p1 ~0.339 £ 0.004 p1 0.9988 + 0.0002
-0.001F _0.001F 0
).0015 - 3.0015C- i
N - —0.001
-0.0021 -0.002] - &
i N _0.002
).0025 7.0025 i
I 1 1 | 111 1 | | I I | | | I | | 111 1 | | I | | | I_ 1 1 _I 1 1 | 1 1 11 | 1111 | | I | | 1 1 1 1 | L1 11 | 1 11 _I | | | I_ | I | I 1 1 1 1 | 1 1 1 1 | | I | | | | 1 1 1 | |
—0.002 —0001 0  0.001 0.002 0.003 0.004 —0.002 -0.001 0 0.001 0.002 0.003 0.004 ~0.003 -0.002 —0.001 0 0.001  0.002
awsl | 4SVYINl__UuSr
jhﬂﬂDE I | I _
- 2 / ndf 286.3 / 29 i » %2 | ndf 320.8 / 29 2/ ndf 180.5 / 32 .
: e °F »\ t *
o t p0  1.05e-06 + 2.11e-06 o p0  7.666e—07 £ 2.108e—06 p0  —1.162e-07 + 3.664e—07
St :
N p1 _0.2365 + 0.0042 J.0005— o1 ~0.2355 £ 0.0039 p1 0.9452 £ 0.0008
).0005 -
i _0.001 o
_0.001 i :
Z i 0.0005
).0015 3.0015— —0.001F s
i - 1.0015F i
-0.002— -0.002 C hh
- - ~0.002F
_I 1 1 | 111 1 | | I I | | | I | | 111 1 | | I | | 11 1 1 _I 1 1 | 1 1 11 | 1111 | | I | | 1 1 1 1 | L1 11 | 1 11 _I | | :] DGEE _l I_ | I | I 1 1 1 1 | 1 1 1 1 | | I | | | | 1 1 1 | |
—0.002 —0.00}p 0 @001 i:cmz 0.003 0.004 t l —0.002 —0.001 lnm tm 0.003 0. nnf t —u.nns —0.002 —0.001 0 0.001  0.002

run4372 000 asym

as

0.003
0.002

0.001

—0.001

I

- 72 [ ndf

p0

pl

307.6 /36

6.945e-07 £ 2.347e-06

-0.2847 = 0.0052

-

‘{}|H‘rﬂ++* \mﬁﬁﬂ: 3

—0.0028.00:0.0018.000.0005 0 0.0005.000.001%.002

0.003

0.002

0.001

-0.001

I

2 { ndf

p0

pl

304 / 36

7.815e-07 = 2.508e-06

-0.3257 £ 0.0056

.

'1} H ++*H\m*“ 1H+_ -

—0.0028.00:0.0018.000.0005 0 0.0005.000.001%.002

[
2 { ndf 163.2 / 36
p0  1.743e—07 + 3.780e—07
p1 1.028 £ 0.001
.D -
~0.001
- i
-0.002

—0.0028.00:0.0015.000.0005 0 0.0005.000.001%2.002

—
%2 { ndf 35.19 /36
PO 3.711e-08 + 6.863e-08
p1 0.9996 + 0.0002
oF
.0005-
~0.001F
2.0015F ;-‘:—
-a.nﬂzf— 3
N ST T A P N I

—0.0028.00:0.0015.000.0005 0 0.0005.000.001%2.002




E

| | ] | |
0.003 0.003 0.003 0.003
0.002— 0.002— 0.002— 0.002—
0.001 0.001 0.001 0.001
asym_usl
— - - - -
—0.001— —0.001— —0.001— —0.001—
o002 _0.002- _0.002- _0.002-
_IIIIIII|IIII|IIII|IIIIIIIII|IIII _III|IIII|IIII|IIII|IIII|IIII|IIII| _|IIIIIIIIIlIIIIlIIIIlIIIIlI _|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
—0.002 —0.001 0 0.001 0.002 0.003 0.004 —0.002 —0.001 0  0.001 0.002 0.003 0.004 —0.003 -0.002 —0.001 0 0.001  0.002 —0.0025).0020.00150.000.0005 0 0.00050.000.0015.002
asym_usl asym_dsl asym_usr asym_dsr

as as asSyIll__usr as
0.004 — 0.004 — 0.004 — 0.004 —

0.003 0.003 0.003 0.003
0.002 0.002 0.002 0.002
0.001F 0.001F 0.001F 0.001F
asym_dsl
— N N N N
-0.001F -0.001F ~0.001F -0.001F
N N - N
0.002|- -0.002 -0.002 -0.002
_IIIIIIIlIIII|IIII|IIII|IIII|IIII _III|IIII|IIII|IIII|IIII|IIII|IIII| _|IIII|IIII|IIII|IIII|IIII|I _lllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
—0.002 -0.001 0  0.001 0002 0.003 0.004 ~0.002 -0.001 0 0.001 0002 0.003 0.004 ~0.003 -0.002 —0.001 0 0.001  0.002 ~0.0025).0020.00150.00:0.0005 0 0.00050.00°0.0019.002
asym_usl asym_dsl asym_usr asym_dsr
as as aSYIIl_USr as
| [ | [ | [ | [
0.002 0.002 0.002 0.002
0.001— 0.001— 0.001— 0.001—
ok o o o
aS ” m usr —0.001 —0.001 ~0.001 —0.001
— o o o o
- - - s - :
0.002 _0.002 _0.002 _0.002
0.003|- _0.003 _0.003 _0.003
IIIIIIIlIIII|IIII|IIII|IIII|IIII III|IIII|IIII|IIII|IIII|IIII|IIII| |IIII|IIII|IIII|IIII|IIII|I |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
—0.002 -0.001 0  0.001 0.002 0.003 0.004 ~0.002 -0.001 0 0.001 0002 0.003 0.004 ~0.003 -0.002 —0.001 0 0.001  0.002 —~0.0025).0020.00150.06:0.0005 0 0.00050.000.0019.002
asym_usl asym_dsl asym_usr asym_dsr
a5SVINl__usr as
- - - I - [
0.002F = 0.002F . 0.002F
2.0015F = 0.0015F 2.0015F
0.001F = 0.001F 0.001F
7.0005 - = 7.0005 - 7.0005 -
o 0 0 0
asym dsr ).0005 1.0005 1.0005 1.0005
- ~0.001F- ~0.001F ~0.001F ~0.001F
).0015F 0.0015F 0.0015F 0.0015F
0.002F ~0.002F ~0.002F ~0.002F
JLGGEE__IIIIIII|IIII|IIII|IIII|IIII|IIII j‘ﬂﬂEE__llI|IIII|IIII|IIII|IIII|IIII|IIII| jﬁﬂﬂEE__llIIIIIIIIlIIIIlIIIIlIIII|I j‘ﬂﬂEEZI-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

rund372 000 asym maindet miitual correlationiscat.png — | e et



